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and Solve Multiplication twink


https://www.twinkl.co.uk/resources/ks2-maths/ks2-calculations-times-tables/ks2-calculations-times-tables-mixed-times-tables 

2x10=20 [10x10=100|5x10=50| 4 x 10=40| 9 x 10 = 90
*J[3x10=30 |5x10=50 |8x10=80|7 x 10 =70 11 x 10 = 110
.| [7x10=70 |3 x 10 =30 |12 x 10 = 120| 10 x 10 = 100 2 x 10 = 20
e of 10x10=100|8 x 10 =80 (11 x10=110| 2 x 10 =20 | 4 x 10 = 40
e’ |11x10=10 |[3x10=30 |4x10=40| 8x10=80| 6 x 10 = 60
ee| |5x10=50 |6x10=60 | 1x10=10| 9 x 10 = 90 | 12 x 10 = 120
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